
Components of a three digit number:  100's, 10's and 1's

200 + 30 + 1 = 231 700 + 50 + 3 =

100 + 60 + 2 = 100 + 90 + 1 =

300 + 30 + 6 = 900 + 50 + 1 =

700 + 20 + 2 = 500 + 30 + 7 =

500 + 50 + 2 = 100 + 20 + 7 =

600 + 60 + 3 = 600 + 90 + 2 =

Name:___________________________________________   Date:_________________   Score:_____________

NumberSheets.com# Copyright © 2012 See more worksheets at www.numbersheets.com

Free for personal or classroom use



Answers

200 + 30 + 1 = 231 700 + 50 + 3 = 753

100 + 60 + 2 = 162 100 + 90 + 1 = 191

300 + 30 + 6 = 336 900 + 50 + 1 = 951

700 + 20 + 2 = 722 500 + 30 + 7 = 537

500 + 50 + 2 = 552 100 + 20 + 7 = 127

600 + 60 + 3 = 663 600 + 90 + 2 = 692
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